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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE
IN THE APPROPRIATE PLACE IN THE ANSWER SHEET. -

3. You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi

’ and English. Each item comprises four responses (answers). You will select the

response which you want to mark on the Answer Sheet. In case you feel that there is

more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer Sheet the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third (0-33) of the
marks assigned to that question will be deducted as penalty.

(if) If a candidate gives more than one answer, it will be treated as a wrong answer cven
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii} If a question is left blank, i.e., no answer is given by the candidate, there will be
no penalty for that question.
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1; Which cell component among
the following . is responsibie
for the process of detoxification
of foreign substances using
cytochrome P450 in mammalian
liver?

{a) Mitochondria
(b} Smooth endoplasmic reticulum

(c) Lysosomes

(d) Peroxisomes
2. Which one of the following
combinations constitutes the

ganglioside of the plasma
membrane?

fa) Galactose + Ceramide

{b} Oligosaccharide + Sialic acid
+ Ceramide

{c) Sialic acid + Ceramide

(d} Phosphatidyl glycerol + Proline

3. With reference to peroxisomes,
consider the following statements :

1. They are surrounded by a
single membrane.

2. They contain ribosomes.

Which of the statements given
above is/are correct?

{a) 1 only
{b} 2 only
{cJ] Both 1 and 2

{d) Neither 1 nor 2

N-DTQ-K-BQN/5A

4, Match ‘List-I with List-II and select

the correct answer using the code
given below the Lists :

List-T List-Ir
(Substances} (Reactions/ Tests)
Proteins 1. Pericdic acid-

Schiff reaction

DNA 2. Sudan.black B
Lipids 3. Methyl green
D. Polysaccharides 4. Bromophenol’
blue
Code :
faj A B C D
1 3 2 ‘4

() A B C D
2

) A +B C D
2 3

d A B C D
3 2

5. Colchicine treatment causes

polyploidy by

(a) preventing polymerization of
tubulin

(b) preventing nuclear membrane
digestion

fc) preventing DNA duplication

(d} promoting continuous syn-
thesis of DNA

T




1. frafafan wifvfm geat # & =9-w
Wt % 9%E A WERRIN P450 F WEIM
W foardia gt & Frofadiem & fag
I ¥7 ‘

(a) TTEERI-gAT
(b) Trft srdsht snfesm
(c) wEHIEH
{d) TR

2. frefafaa ssmt 4 & =h-w = e
g & ffciefurgs =1 duea wan #7
(o) FEm + Wese

(blaﬁ%ﬁﬂ%ngs+mwﬁﬁm‘

+ WiARe
(c) WTELfT® FA + dAEE
(d) mﬁaﬁa+ﬁvﬂq

3. weiiRmEmt % gl § fafifiad st o
ﬁﬁﬁaﬁﬁ%ﬂl:

1. 2 o gt g R 9 &y
2. I® UzEEE B ¥

3w FuAl § § PW-T/R udt 287
fa) FFE 1

(b) Fad 2

(c) 1323

(d F@1amad2

N-DTQ-K-BQN/SA

4. g1 F-gh-l | gftm fifeg qm

gt & R e m w2 @ wEn W ow@h
W@Eﬂl
-1 weht-11
(T=ned) (arfirfern fafiaror)
A, WA 1. TTmfes sn-
e sl
B. DNA 2. TR =& B
c. fafte 3. Afys WA

D. wfedduse 4. AT =

e :

@ A B C D
1 3 2 4

m A B C D
1 2 3 4

fc) A B C D
4 2 3 1

d A B C D
2

5. @ifeaitd =R A S

¥ fa) TR F Tgadiem & Para g
ik

(b) FsmE T ¥ e & femw g
gl 2

() DNA faqme % framo g @ 2 |

(d) DNA % Frem gyetvor & g g
Eielt &

(P.T. O.
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6. Mitosis promoting facter (MPF) has
two key subunits—one is catalytic
and the other is regulatory. Which
one of the following 1is the
regulatory subunit?

(a) cdk
(b} cyclin
fe} dynein

{d) dynactin

7. Synaptonemal complex helps in
fa) gamete formation

(b} recombination during cell
division

fc) production of enzymes during
cell division

{d} chromosomal
towards poles

movement

8. Consider the following statements
related to mitosis of an animal cell :

1. Cells have least amount of
DNA in G; period.

2. The amount of DNA
throughout interphase is not
constant.

3. A G, nucleus has maximum
amount of DNA.

N~DTQ—K—BQN /5A

Which of the statements given
above are correct?

{a) 1 and 2 only

(b} 1 and 3 only

fc} 2 and 3 only

{d 1,2 and 3

9. Which one of the following
descriptions best defines hetero-
chromatin?

{a) Gene-rich regions of chromo-
somes enriched in unique
sequence of DNA

(p) Chromatin that contains
‘junk-DNA’ and considered as
‘evolutionary debris’

fc) ‘Transcriptionally . inactive and
highly condensed regions of

chromosome

(d) DNA rich in tandem repeats of
intermediate sequence

10. A dcletion in the short arm of
chromosome 5 produces in humans
a genetic disorder calied
{a) cri du chat syndrome
(b} Down's syndrome

¢/ Edwards’ syndrome

{d) Patau’s syndrome
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6. gfqwreR ¥ads & (MPF) & 3 1A 39Y HOE W A wH-2 wd 87
INHF T—TF AR T T .
s fefafae & @ #9-@1 (@) Fad 13 2
fame suuws 87
(b} Faw 13 3
fa) cdk
- {c) 3’1?1?{23#’!13 |
' T
® dy 1,233
(c} &t
. 9, frafrfem d ¥ o w afy,
(d} SEAfEeA TUFRfET 1 watan Freww s 27
' (@) ToRE & S wyg &9 St DNA %
7. TRl Ay fral gean s 27 it avger # wmg g €
(@) gmm.ﬁqu (b) =ifE, Rrad ‘S%-DNA' @@ R
o R ‘frwdy qeEr’ A s
&

(bj ﬁfﬁmﬁw_ﬂaa‘ﬁmgﬁm
(c) Igeefm: e oft Rm &

(c) iR Rusm * o ot W= it duf| 83
3T :
(d) DNA S weyad] igem & 5de
(d) gA N 3 R e Tt # Ty R
. £ % foaelivs @ amEt o
8. g witER & hfdwew ¥ w=fe 10. T 5 =l & g
1. G, W& § =ifvmedt & <@ (aj SH g =2 TAem
A # DNA Rt 24 :
2. DNA & a1 g8 sy & A (b) <i HEE
feRr 78 wditl © g et
3. Th G, %55 W DNA & =@
SPET R | (d) TS HEHT
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11. Consider the following statements :

Carrier proteins are requircd for
the transport across plasma
membrane of

1. amino acids
2. glucose

3. nuclectides

Which of the statements given
above is/are correct?

fa)j 1 and 2 only
(b) 2 only
fc} 2 and 3 only

(d) 1,2 and 3

12. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
{Sex Chromosomes) {Animals)

A. XY female, XX male

[a—
.

Grasshopper
-B. XO female, XX male 2. Honeybee

2
C. XX femafle, XO male 3. Fumea
4

D. 2n female, n male . Silkworm
Code :
fa) A B C D
3 2 1 4
(b) A B C D
3 1 2 4
fc) A B C D
4 3 2 1
(dl A B C D
4 3 1 2

N-DTQ-K-BOQN/5A

13. Match List-I with List-Il and select

the correct answer using the code
given below the Lists :

List-T List-IT

{Organisms} (Characteristics of

Genomes)

A. Phage X174 1. Linear double-

stranded DNA,
which may
form ring

B. T, Bacteriophage 2. Linear double-

stranded DNA,
but ‘does not
form ring

C. SvV40 3. Circular single-

stranded DNA

D. Phage A 4. Circular double-

stranded DNA

Code .

(@@ A B C D

() A . B C D

{d A B

(SN )
w g




11. Frafafisa Fuat w REr Fifsw -

aTEF SIH, e gt F sm-un

1. Ui ol & wias ® T
e §

| 2. HE % ThEE & e s §
. 3. fFweiegd ¥ wew F R

TS §
swdts syl # A F-1/@ e 2/E7
fa) Faa 1 3R 2
: ) Fad 2
{c) %aa:za:ﬁt;
) (d) t, 233
12, g1 | g1 8§ gafew @ﬁ‘m a
g & A= Ry e g W o = wd
IW gHT:
-1 -1
(e Tporega) (=)
A, XY HEI, XX T 1. Ra
B. 'XO #Er, XX T 2. RS & Ao
C. XX ¥, XO R 3. wgfaar
D. 2nHENL n T 4. W
%)e
fa) A B D
3 2 1 4
) A B C D
3 1 2 4
g A B C D
4 3 2 1
f(d A B C D
| 4 3 1 2
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13. g1 | gA-11 | ghfom At e

gt & TR Re T g2 1 @ = oad

wgﬁq:

-1 w11

(Sfta) (St ) Rrdreand)
A, Risft X174 1. s figdlm DNA,

S TorE I G B

B. T, sfampiisht 2. s fegdlim DNA,

N aer € S
C. SV40 3. guERR THEEAT DNA
D. fasiish A 4. g fgEpha DNA
2 :
fad A B C D
1 2 4 3
) A° B C D
2 1

dl A B C D
. 4 2

[P.T.O.




14. Consider the following statements :

cDNA libraries are prepared from
isolated

1. tRNAs
2. rRNAs
3. mRNAs

Which of the statements given
above is/are correct?

fa) 1 and 2
(b) 2 only
{c) 2 and 3
(d) 3 only

15, Which of the following statements

about DNA is neot coirect?

fa} The double helix is right-
handed

(¢) The nitrogenous bases are
stacked on the inside of the
helix

fc/ The two strands of the double
helix are anti-parallel

{d}] The bhases of the two poly-
nucieotides interact by
covalent bonding

16. Acridine dyes such as ICR-170 and

ICR-191 are very  powerful
mutagens that induce

{a} point mutations
(b) frameshift mutations
fc) thiamine dimer formation

{d) suppressor mutations
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17. Match List-T with List-1I and select
the correct answer using the code
given below the Lists :

List-I List-If
A. pBR322 1. Vector
B. EcoRI - 2. Transgenic monkey
C. Andy 3. Restriction
endonuclcase
Code :
(@) A B C
1 2 3
(b} A B, C
2 3 1
fc] A B C
1 3 2
{d) A B C
3 1 2 "

18. Lesch-Nyhan disorder in [l;mmans is
{a) sex-linked recessive
{b) sex-linked dominant
(c] autosomal recessive

{d) autosomal dominant

19. Which one of the following terms
perfectly defines “genes located on
the same chromosome without
reference to their linkage
relationship”?

{a) Syntenic
{b} Linkage
(c) Linker DNA

(d} Inheritance




14, Tefaiad saat @ fem ifv

cDNA Guerey, Fafm

1. tRNAs & fififa 94 &
2. rRNAs ¥ ffifa gia &
3. mRNAs @ fififagn &

3w wYAT § Q@ BA-A1/9 w2/
fa) 132
(b) A 2

| ) 233

i (d) FFd 3
15. DNA % fawa d ffefes # @ aw-w

A we T 27
(o) Tagpueett <fqomaedt €t &

() TRt S¥ grefelt & ofm
3R Tty gt B

(c) Tiguedh & @ wf= sfeuiax a2 &

() A diegfasiegel ft W
[REAST STaFuR g uReERich faRan
F 8

16. tfhdm wm, S f ICR-170 3R
ICR-191, 1 st wifrwreft
JafEden 8, fefafes & & =0 3w
w87

(o) fog SafEda

(b) YHR-gf (hRre) IeafaEd
{c) I Tam fmior

(d) s safads
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17. g&-1 # G-I 8 gafea i qon

gt o 2 o T F2 W o wOEd
e giiw '
-1 -1

A, pBR322 1. 3K
B. EcoRI 2. TG =T

C. Andy 3. wiiey USrgfRTeH

=
@ A B C
1 2 3
(b} A B C
2 3 1
{6 A B C
1 3 2
[d A B C
3 1 2

18, AHal ¥ AN-TUEW HALT

() Tom-veem st g §
(b) fem-geem ywreh g §
(c) el sty gran B
¢ (d) - ARG T g &

19. fafufes v=st # @ *-w @, ‘= @

T W, o A wEemda wE &
vl &, srfm fia’’ = pha: vfonfia

 whtar 87

(a) wudta (fafae)
(b) Wewwa

{c) Hegclish DNA
(d) =

[P.T. O.
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20. The crossover percentage between Which of the statements given
linked genes J and M is 20%, J and above is/are correct?
. L 35%, J and N 70%, L and K 15%,
M and N 50%, and M and L 15%.
Thus the sequence of genes on the
chromosome is

fa) 1 and 2

(b) 2,3 and 4
(@ J,N, ML, K

(b} J, M, L, N, K c) 2 only
@ M LKN (@ 1,3 and 4
fdl M,J, L, K, N )

23. In which of the following groups has
the mesogioea reached its highest
degree of differentiation?

21. If a cell is subjected to ionizing
radiations, which one of the
following mutations is likely to
occur? '

{a) Anthozoa

fa) Transition

{b} Transversion (b} Scyphozoa

{c] Insertion {¢) Hydrozoa

d) Deleti
(d) chon (d} Metazoa

22. Consider the following statements

with respect to translation : .
24. Amongst Hydrozoa, colonial forms

exhibiting extreme polymorphism of
both polyps and medusa are found
in

1. During elongation process,
tRNA with amino acid enters
through the P-site of a
ribosome.

2. Pept?dyl—transferase helps in {a) Hydroida
peptide bond formation

between two amino acids.

Millepori
3. Inside the ribgsome, codon (b} Milleporina

of tRNA fits with the anti- .
codon of mRNA, {¢) Siphonophora

4. A ribosome can accommodate
only one tRNA at a time. (d) Trachylina

N-DTQ-K-BQN/S5A 10




20. R sfaee, ggem s g e M & &=
20%, J 3 L & &9 35%, J S N &
5 70%, L 3 K & 9 15%, M 3
N & «I9 50% aat M 3R L & 9
15% B\ 37d: oA W S w1 SgHA
Tm?

@ J, N, M, L, K
(b} J, M, L, N, K
¢/ J, M, L K N
d M, J, L KN
21. 3t = FfEm B AR ffee @
wfaa TR s @, @ FrafolReas

IafEdat 1 @ frw & % 81 R wmE
2?7

22, IgaR (gwasE) & g § fafafw
FeAl W fa=m fifer

1. i WA % AT (RNA U

WA UM % P-wE W

B A LT B

2. YASEA-IER 31 W ol &
#9 Uers ey fmbr & wgma
w2

3. W % ofied 9m # tRNA =
FIEH mRNA % Wlahe & 9™
3 e 2

4, TF TEEHE UF O W Fad T
tRNA ! TR s 9%al 2|

N-DTQ-K-BQN/5A
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I woedl A @ A-a/8 wd 3/
(a) 1aﬁ12

(b) 2,334

(c) a2

(d) 1,334

23. frfafn vt & @ e w3

AETATER, fave i s=am #if wuga
a1 27

(@) Teishan
(b) HEERFI
(c) TEGSHA

(d) TRTSH

24, wWEWET | ¥, gt oK Aggm IFt &

T JgEwdl Wefdfd e e fee-sie
fepartt arg sa &7

(a) TTEGIEET
() TaeEtmife
(c) TREFIGT

(d) SHreTmE

[P.T.O.




25. Both Hydra and Planaria are
metazoans. Though they belong to
different phyla, they possess one
common interesting feature. What
is that common feature?

(a} Presence of flame cells
(b} Phenomenon of regeneration
{¢) Polymorphism
{d) Bilateral symmetry

26. The body cavity of Ascaris cannot be
called coelom, because
{a) the cavity is perivisceral

(b} the gut and gonads lie within
the cavity

{c/ the cavity contains pseudo-
coelomocytes

{d}) the cavity lacks epithelial
lining

27. Which one of the following is the only
member of the class Merostomata
of phylum Arthropoda to survive in
the modern times with practically
no evolutionary change since this
first appeared and is known as
living fossil?

{a) Acormn worm
{b) Barnacle
{c} Limulus

(d) Peripatus

N-DTQ-K-BQN/5A
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28. The genus Mysis can be
distinguished from mysis larva
by the presence of

(a) optic stalk
(b) well-developed telson
{c) statocyst

{d} biramous thoracic appendages

29. Peritrophic membrane is associated
with a part of the digestive system
in '

fa) Ascaris
(b} Nereis
{c) Antedon

(d) Periplaneta

30. The schizocoelous coelomates,
looking like giant worms but devoid
of gut and mouth, belong to

{a) Turbellaria
{b) Pogonaphora
fc) Bryozoa

{d} Ectoprocta




25. FrEgr 3 Ry A g & T 9

T adt % 8, wg & w il i
gﬁmmﬁaﬁﬁlaamﬁsﬁ@rmw
(a) wﬁﬁﬁmaﬁ@ﬁwm

(b) TR il TR

fc) FFET
d) T wmfafa

26. UG A A TE B WE (Heim) Tl

%Wﬁaﬁ%
(a) TET THaT B

(b) A I g, aa%s%ﬁmaxa@a
&

c) wﬁmm@ﬁ%

(d) T wRefiferdt smer @ Wa ?
27. frafafes § /@ @@ smider $ A
. ﬂfl@ﬂamaﬂq—mwﬁm% =il
argfas g § off Sfifem @ el ot
3HF TAYYH T B 9% § e

w & w ft fwmiy afadt 7@ gen
37R 8 Sifam wifee weend 27

(a) = Fw
(b) BGOSR
(c) Tergera
(d) g
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28. S8 AEfog W ueikm o @ feEh

Teremmen gy forsifea feman < wepen 27
(@) T H

() Glowfa geouvs

(c) WgT-TA

(d) T aafta Iamm

29, frafafiga § @ g geq 3 & @ W

¥ ity e o 87
-(a) geHIRE

(b} g

(c) s

(d) REHzT

30. dolre W, S geq FhET i R

% utg ond 3 @ A WRa &, Peafafa
% 3 fewd Wy @R

fa) Zfdafan
(b) TIAEBRT
(c) SR

(d) TFRSEI

[P.T.O.




31. Torsion and detorsion are
phenomena in many molluscs
leading to the formation of
asymmetrical body. Spirally twisted
shell in these forms may be dextral
or sinistral. But such phenomenon
is absent in

fa) Helix nemoralis
(b} Anodonta cygnea
¢} Pila globosa

(d) Achatina fulica

32. Gastropods with one gill and one
auricle belong to

{a) Pulmonata
(b} Pectinibranchia
{¢) Pelecypoda

{d) Scaphopoda

33. A primitive mollusc represents a sort
of connecting link between Annelida
and Mollusca. Which one of the
following is correct?

(a) Limnaea
{b) Neomenia
{c) Neopilina

(d] Nucula

N-DTQ-K-BQN/SA
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34. Echinoderms are considered to be

the miost evolved invertebrates,
because they

fa} are enterocoelic

(b} show resemblance with
chordates in their embryonic
development

{c¢ have a pgreat power of
regeneration

(d) are schizocoelic

35. Consider the following :

1. Maxilla
2. Jugal
3. Sguamosal

4. Quadrate

Which two bones of the above join
to form the zygomatic arch in the
skull of rabbit?

{a) 1 and 2
(b) 2 and 3
) 2 and 4

(d) 1 and 4




31, fadin it sremads agd @ Wt J 3

el gftend & ) srmfia w @ A wE
# v Bt &1 o vt wffa dfea
Fad <HUmEd JYET GHEG 8 U #1
wg ¥l oftee frafafles & @ Rt

srgafer §?

(a) ferrq FuRfer
(b} QI ffaE
(c) rseH A=l

(d) TR wgfera

32. giufs f’rnl e W SR o Afa= ad

8, Proefafas # & fead avary W 87
o) dEHMT |
) EIECAEIER)

{c) UATGEET

(d) T

33. % TRu AR Witer iRk Ao &

= yeer i gash w8 et s
2| Preiferfem @ o=@ us o 27

(a) Terfemm
(b) it
(¢} Rt

{d) FFT
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34, TwEaed waite fowfm seswdh Wn

e 8, i 2
fa) FTAEF BB

(b) 3 yoim Fwm & wgfea @
e wefiie w1 §

fc) TTEENEA Y Foq &HO W@ §

() <fie &

35, Fefaflga wt faar fifex .

1. SfEm
2. T
3. YeHIEy

4. BT

wE # A @ D aRel e,
iy 6w d, tewm N = w
&7

(@) 132
(b} 233
fc) 234

d} 134




36. The classification of reptiles is 39. Chimaera monstrosa {ratfish) is an
based on example of an aberrant group of
cartilaginous fish which belongs to

(a) the presence or absence of
epidermal scales on the body

(a)
fb} the presence or absence of
temporal fossae in the skull
(b)
{c) the presence or absence of
cleidoic eggs (c)
(d} the presence or absence of
movable eyelids {d}

37. Exposed external gill slits, jaws and
lack of bony endoskeleton are the
characteristics of

Actinopterygii

Chondrostei

Holostei

Holocephali

40. The ampulia of Lorenzini is the organ

which is

{a} Agnatha

(a)
(b) Osteichthyes
{c) Chondrichthyes

(d) Choanichthyes

(D)

38. Presence of foramen of Panizzae is
an important characteristic of

{a} Chelonia (c}
{(b) Ophidia
{c) Crocodilia (d)

(d) Cotylosauria

N-DTQ-K-BOQN/5A 16

L

present on dorsal and ventral
surfaces of the head of sharks,
embedded in the skin and acts
as thermoreceptor organ

present on the ventral surface
of the body of sharks,
embedded in the skin and acts
as lubricating organ

present in the membranous
labyrinth of sharks and acts as
balancing organ

present in the water vascular
system of starfishes and acts
as locomotory organ
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86. gyt &1 wffeo Frafifas 8 @ fee w 39. #FiEfhu A (Efen) saften ¥R %

i 27 w fousft g w1 w|ew R W
frafsfga & 4 fred gy @ 87

(o) TR wt el sl i fermra

Fryar tfarmma 5 :

. (o) RARifoems

) R vaf® @@ Hit e

AYET AREHFT (b) AT
fc) wem awgt H foermar suEn

FifereraTa fc) TBIERERg
(@) ¥a umw f fewma s

Eh ELIE i () BrEREE

37. WM 9@ T oz, W iR rfdem™ . ‘
s amaEHE e § 4 o 40.@%@:41@&@@@1%,@

fafirean 27 _

N (a) TR & Tid & Gt AR T Gawl
(a) @ g 2, e § et i g R
) s | ;ﬁtm?ﬂmmﬁm%mﬁw
(c) Hltgaefist

(b) TR & ¥ & e wag W farmm
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41, Which one of the following is absent
in Bugula?

{a) Avicularium

(b) U-shaped alimentary canat

{cj Lophophore

(d} Definitive excretory organs

42. If the activity of the contractile
vacuole in Amoeba is experi-
mentally inhibited, the protozoon

fa) instantly undergoes binary
fission, and develops new
contractile vacuoles, one each
in the two daughter cells

(b) forms a cyst around itsclf, and
waits for a favourable time and
condition

fc) contracts, and finally appears
as a mini-animalcule

(d} swells, and may finally burst
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43. Which one of the following
statements on Sycon is correct?

(a)

(b)

fc)

(d)

It is profusely found in rivers,
lakes and ponds

In it, asexual reproduction is
totally absent

No larval form has been
reported

During sexual reproduction,
the choanocytes act as carrier
cells

44. ‘Apolysis’ process in Taenia signifies
certain changes in which

(a)
(b}
(c)

(d)

mature proglottids get
detached from the body

immature progiottids become
sexually mature

gravid proglottids are detached
from the body '

mature proglottids form male
and female reproductive
organs
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45. The infective juvenile of Ascaris
moults for the third time to form
the fourth larva. Where does it
take place among the following?

fa) In the soil outside the host
body

(b) In the intestine of the host

(¢) In the alveoli of lungs of the
host

(d} In the right side of heart of the
host '

46. In which segments of the earthworm,
blood from the supraocesophageal
blood vessel is directed into the
ventral blood vessel?

(a} 7th and 9th
{b) 10th and 11th
(¢ 12th and 13th

(d) 9th and 11th

47. Which of the following sets of
parts/constituents of the body
of Pheretima is associated with
excretion?

fa) Chlorogogen cells and
nucleated cells

(b} Mucocytes and Chlorogogen
cells

) Phagocytes and Chlorogogen
cells

(d} Phagocytes and Mucocytes
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48. In Palaemon, the numbers - of

cephalic, thoracic and -abdominal
appendages are

fa) 05, 08 and 06 respectively

{b) 06, 07 and 06 respectively

{c) 06, 06 and 07 respectively

{d) 07, 07 and 05 respectively

49. With reference to scorpion, consider

the following statements :

1. 1Its respiratory pigment
includes copper-containing
protein,

2. Its coxal glands help in
reproduction.

3. Its book lungs are the
respiratory organs.

4. Its heart consists of seven
chambers,

Which of the statements given
above are correct? *

@) 1,2, 3 and 4
(b) 1, 2 and 3 only
fc) 1,3 and 4 only

{d) 2, 3 and 4 only
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50. Epimeron

in the appendages of

prawn is a structure which

(a)

(b}

(c)
(d)

51. The

connects the appendages to its
pleuron by a plate

forms the base of maxillary
appendages

cushions the chelate leg base

cushions the non-chelate

appendages

common garden snail, Pia

globosa, lays its eggs

(a)
(b}
(c}

(d)

in singles in water
in a mass that floats in water

in a mass attached to aquatic
plants

in a mass on moist soil

52. What is the correct sequence of the
course of blood circulation in Pila ?

{a)

(b)

{c]

(d)

Heart — cephalic aorta -
perivisceral sinus — branchio-
renal sinus — ctenidium

Heart — perivisceral sinus —
cephalic aorta — branchiorenal
sinus — ctenidium

Heart - cephalic aorta —
branchiorenal sinus — perivis-
ceral sinus — ctenidium

Heart — branchiorenal sinus —
perivisceral sinus — cephalic
aorta — ctenidium
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53. Which of the following functions
performed by Tiedemann’s bodies
in starfishes is correct?

(a)

(b}

(c)

()

They are digestive glands

They are excretory glands

They are reproductive bodies

They are lymphatic glands to
manufacture the amoebocytes

54, Which of the following statements is
not correct for Balanoglossus?

(a}

(b}

{c)

(d)

Notochord runs from end to
end of the body and extends to
the head region

Paired and median fins arc
present

Notochord persists throughout
the life

The larva of Balanoglossus is
known as tornaria larva
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§5. Which one of the following reptiles
has a complete secondary palate?

(a) Crocodile
(b) Lizard
{c/) Snake

fd) Tortoise

56. In Scoliodon, the base of the placoid
scale is tied with the stratum
compactum by

fa) vitro-dentine
(b} Sharpey’s fibre
{c) prototrochs

(d} stratum germinativum

57. Filter feeding is basically found in
a number of invertebrates and
protochordates.  However, this
phenomenon is seen in one
mammal. Which is the animal in
question?

(a} Dolphin
(b} Sperm whale
{c) Walrus

{d) Baleen whale
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58. The additional salivary gland present

in canine species is
fa) molar gland

(b} retrolingual gland
fc) orbital gland

{d) Harder’s gland

59. In which of the following,

the

pneumatic duct arises from the

ventral side of oesophagus?
fa) Acipenser

{b) Sturgeon

(c) Ceratodus

{d} Lepidosiren

60. In Columba, name the aortic arch
which lost its connection with the

dorsal aorta

{a) Left third arch

(b} Fourth arch

{c) Fifth arch

{d) Right sixth arch
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61. Which one of the following 65. Consider the following statements :
vertebrates retains the left systemic
arch? Coenzyme
F
(a) Frog 1. is necessary for the active state
{b} Lizard _ of an enzyme
. 2. remains unchanged at the end
fc) Pigeon .
of reaction
{d) Rat ' 3. is non-protein in nature
62. Urinary bladder is absent in all Which of the statements given
birds, except above are correct?
{aj duck
{a¢) 1,2 and 3
{p) gull
(c) owl {b} 2 and 3 only
{d) ostrich {¢/ 1 and 3 only
63. Thermoregulatory centre in (d) 1 and 2 only

mammals is located in

fa) pons Varolii 66, Which one of the following is a
common feature of facilitated

(b} floccular lobes transport and active transport?

fc) hypothalamus
{a) Both involve expenditure of

{d} corpus callosum . energy

64. Which of the following is not a (b) Both* involve  membrane
function of sympathetic nervous transport proteins
system? '

fc) In both, transport takes place
necessarily from a region of
higher concentration to a
region of lower concentration

fa} Increase in blood sugar
(b) Rise in blood pressure

(c) Decrease in clotting time of '
blood {d) Both can take place in cither

direction irrespective of concen-
(d) Constriction of bronchi tration gradient
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67. Which ‘one of the following
compounds is an inhibitor of
Nat-K* pump?

{a) Arsenol
{b} Dicumarol
fc] Ouabain

(d) Phlorizin

68. Consider the following statements :

1. Black leopard can be found in
Western Ghats.

2. Snow leopard is found only in
Arunachal Pradesh.

Which of the statements given
above is/are correct?

{a) 1 only
(b} 2 only
{c} Both 1 and 2

(d) Neither 1 nor 2

69. Most of the energy is liberated in the
cells by oxidation of carbohydrates
when

(a) pyruvic acid is converted into
acetyl CoA

{b) pyruvic acid is converted into
CO, and H,0O

fc) glucose is converted into
pyruvic acid

(d) glucose is converted into
alcohol and CO,
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70. Oxidation of nutrients in catabolism

releases energy which drives the
synthesis of

(a) cyclic AMP
(b) AMP
(c) ADP

(d) ATP

71. The protoplasm essentially contains

L]

various types of proteins, which
differ structurally as well as on the
basis of their water solubility, like
fibrillar, conjugated, globular, etc.
Which one of the following groups
belongs to conjugated globular
protein?

{a} Pseudoglobulin, protamine,
histone

(b} Chromoprotein, glycoprotein,
nucleoprotein

{¢) Euglobulin, protamine, glutelin

{d) Albumin, elastin, collagen

72. Among the following types of

proteins, which one is the simple
water-soluble  globular  protein
molecule?

{a} Collagen

(b} Albumin

{c) Elastin

(d) Keratin
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73. Which one of the following
compounds cannot give rise to the

net synthesis of glucose?
{aj Acetyl coenzyme A
(b} Glycerol
{c) Lactate

(d) Oxaloacetate

74. In which one of the following

groups of chemicals, all

neurotransmitters?

are

(a) Somatostatin, serotonin, acetyl-

choline

(b) Noradrenaline, somatostatin,

threonine

(¢) Glycine, dopamine, melatonin

(d) Acetylcholine, noradrenaline,

dopamine

75. Consider the following statements :

1. Saxitoxin is produced by
certain species of marine

dinoflagellates.

2. Saxitoxin is neurotoxin that

acts _as selective
channel blocker.

Which of the statements
above is/are correct?

fa) 1 only
(b) 2 only
{c) Both 1 and 2

{d} Neither 1 nor 2
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given

76. GABA (gamma-aminobutyric acid),

which is released from the brain, is
{a) excitatory

{b) inhibitory

{c) mixed type

{d} sensory

77. In addition to heme of cytochromes

a and aj, cytochrome oxidase also
contains two atoms of

{a} copper
(b) magnesium
{c} sulphur

{d} nitrogen

78. Consider the following events in

muscle contraction :

1. Action potential depolarizes
the T-tubules.

2. Calcium binds to troponin-
tropomyosin complex.

3. Actin combines with myosin
ATP- leading to cross-bridge
activation.

4. - Depolarization of T-tubules
releases calcium from sarco-
plasmic reticulum.

What is the correct sequence of the
above?

{a) 2-1-3-4
(b} 1-4-3-2
(c) 1-4-2-3

{d) 2-1-4-3
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79. Which one of the following glycolytic

enzymes is inhibited by fluoride?
(a) Lactate dehydrogenase

fb) Pyruvate kinase
fc¢) Enolase
{d) Hexokinase

80. An enzyme, hexokinase, which
catalyzes glucose to glucose-6-
phosphate in glycolysis, is inhibited

by glucose-6-phosphate. This 1s an
example for

fa) feedback allosteric inhibition
{b). positive feedback inhibition
fc) competitive inhibition

(d) non-competitive inhibition

81. When necessary, pyruvate can be
converted to oxaloacetate in a
reaction catalyzed by pyruvate
carboxylase. Pyruvate carboxylase
activity is enhanced by

fa) ATP
{b) cAMP
{c) citrate

{d) acetyl CoA
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82. Consider the following physiological

processes :

1. Substrate level phosphoryla-
tion

2. Citric acid cycle

3. Oxidative phasphorylation

4. [-oxidation

Which of the above are common

to carbohydrate and fatty acid
catabolism?

fa) 1 and 2
(b) 1 and 3
¢/ 2 and 3
({d 1 and 4

83, Mammals have several classes of

hormones distinguishable by their
mode of action. Which one of the
following groups of hormones acts
through nuclear receptor?

{a) Peptide, amine and eicosanoid
(b) Peptide, steroid and retinoid
{c) Steroid, retinoid and thyroid

(d) Steroid, retinoid | and
eicosanoid

84. Which of the following hormones is

proteinaceous in nature and is
secreted by steroid-producing organ.
under special physiological state?

{a) Epinephrin
(b} Noradrenaline
(c) Thyroxin

{d} Relaxin




79. fr=fafae ¥ @ 9-u1 T wgH- A
TR FPeIUES 1 Efd i 87

(a) AR REGSH
(b) TEEHE FFAE
c) FT

(d) TRAEEY
80, T% T3 THEIHEAY, S TgH!-3TqA
A e R ORE-6-HiEke § 3
FAT B, THIR-6-HER T T g
31 o8 Thaa See 87
(a) TN STy Henw
(b) wTEHS GO HEEA
(c) i fidy
(d) smafenfian iy
81, JEVIRATIER, UREAT idiadd g
' A afafrn § weede arfaleidie
giafda & wehal B RS HisiedeE
1 aftraar 9 forees g gfe Bt 87
fa) ATP
(b) cAMP

(c) Tz
(d) TEifed Coa

N-DTQ-K-BQN/5A

33

82, Fffaflge wifrmmes vl w few

FT
1. frameam  wlesiesm
2. Rifsw s =

3. SAixfwol wesiam
4. - siEdw

Igde ¥ FR-A wElgRse q FE
I = =1 1 g €7

fa) 132

(b} 133

fc) 233
(d) 134

83, wAu Wit # firm a7 % F0iA We SR

g, ot e frafaf % smar w e
{1 Frferfiga emfy oggl 4 @ w9-w o
el ot & areEw @ G v 27

fa) TeTgs, WA i wERATEE
(b) V=TS, RTE 3R HiTag

(c) ét'rq‘s,iﬁmzaﬁtmm
(d) w=aE, PAtae ofit angiaAiae

84, Frafofea & ¥ w-w W yFER

B O 9 RUgs 991 w9 3
B T wikfraras f&rfy & afdm g
2?7

() EER
(b} A
(c) AEURA
) T&afRw

[P.T.O.




is of nutritionally essential amino
acids?

fa) Tyrosine, valine, tryptophan
(b) Giycine, cystine, ‘valine
fc}] Histidine, isoleucine, threonine

{d) Tryptephan, leucine, glycine

86. Which of the following isomeric

mammals?

{a} D-amino acids and D-sugars
b} D-amino acids and L-sugars
() L-amino acids and L-sugars

(d) L-amino acids and D-sugars

87. The middle piece of a mammalian
sperm includes which one of the
following sets of structures?

fa) Golgi apparatus, mitochondria
and centriole

(b) Golgi apparatus, mitochondria
and axial filament

{c) Golgi apparatus, centricle and
axial filament

(d) Mitochondria, centricle and
axial filament
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85. Which one of the following groups 88. The process that sperm undergoes in

female genital tract of mammals
before fertilization is called

fa} decapacitation

{b) capacitation

{c} activation

{d} deactivation

forms are biologically active in 89. The type of enzymes released by

sperm acrosome at the time of
acrosome reaction during
fertilization is

{a) ligase
{b) peptidase
{c} hydrolase

{d} dehydrogenase

90. In eutherian mammals, the extra-

embryonic membrane(s) teking part

in the formation of placenta is/are

fa} yolk sac

(b) allantois

{c} yolk sac and chorion

{d} chorion and allantois
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91, The process of gastrulation in
amphibian embryos starts from the
dorsal lip of blastopore by

{aj epiboly
{b} involution
(c] evagination

(d} delamination

92. The central zone overlying the sub-
germinal cavity of developing egg of
a chick is called

{a) area pellucida
(b) area opaca

fc) epiblast

{d} hypoblast

93. Which one of the following is formed
by mesoderm of gastrula?

{a) Central nervous system
(b) Epidermis
{c) Circulatory system

d) Liver and pancreas

94, Which one of the following events is
not correct about metamorphosis
of ascidian tadpoles?

fa) Dorsal tubular nerve cord is
transformed into a trunk
ganglion

{b) Long muscular tail is resorbed
{c) Gills and gill slits disappear

{d) Notochord disappears along
with the tail
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Yolk sac placenta is found in
fa) pig
(b) sheep
(c¢) primate

(d) didelphys

96. The placenta produces which of

the following hormones?

fa) Estradiol, relaxin, inhibin

(b) Progesterone, inhibin, clusterin
{c) Estradiol, progesterone, relaxin

{d) Relaxin, inhibin, androgen

97. Species which are closely related,

morphologically similar, reproduc-
tively isolated, live in sympatric
populations are designated as

(a) clines

{b) ecads

{c) demes

{d) sibling

. Industrial melanism in certain

moths is an example of
{a) warning coloration

(b} mullerian mimicry

{c) sexual selection

(d) directional natural selection
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99. Down the South, Wallace’s line 102. Which of the following is an Indian
passes between the islands vector for Leishmania donovani?
fa) Sumatra and Java (a) Phlebotomus perniciosus
{b) Borneo and Celebes (b} Phlebotomus chinensis
fcj Timor and New Guinea {c} Phlebotomus argentipes
{d) Bali and Lombok (d) Phlebotomus orientalis

100. Zygodactylous condition 1is the 103. The drug ‘Cantharidin’ is produced
characteristic of from the dried bodies of
fa) Phrynosoma {a) vine girder beetles
(b} Hemidactylus {b) Dblister beetles
(¢} Calotes {c} tiger beetles
(d} Chameleon {d} ground beetles
101, Consider the following statements : 104. Which one of the following is a

potamodromous fish?
Hardy-Weinberg equilibrium  is

maintained in a population where (a) Eel
1. random mating takes place (b) Hilsa
2. there is no natural selection

{c/ Rohu

3. a population may gain or loose

alleles (d) Mackerel

Which of the statements given

above is/are correct? 105. Jaw teeth of sharks are

fa) 1 only fa) modified placoid scales
{b) 1 and 2 only {b) modified cosmoid scales
fc/ 2 and 3 only (c) non—plgcoid scales

f{dj 1,2 and 3 (d) ganoid scales
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106. Which one of the following helps to
breed fish in artificial conditions?

(a} MS 222

(b) MSH

fc¢) HCG
(d) DDVP

107. Even though limbs and girdles are
generally mot found in snakes,

vestiges of the pelvic girdle and
hind limbs persist in

(a) king cobra
(b} sea snake
(c) python

{d)

viper

'108. Which of the following snakes has
loreal pits that help the snake
‘in tracking down warm-blooded
animals even in pitch darkness?

(a) Banded krait
" (b) Cobra
{c) Green python

{d) Rattlesnake
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109. In centipedes, poisonous claws
are the modification of which
structure?

{a} Antenna
(b) Mandible
(c) First pair of legs
(d) Last pair of legs
110. Match List-1 with List-II and select

the correct answer using the code
given below the Lists :

List-1 List-1I
A. Freshwater 1. Muller's organ
prawn

Grasshopper 2. Flame cells

Cockroach 3. Green gland
Sheep liver 4. Urate cells
fluke

Code :

faj A B C D
2 1 4 3

) A B C D
2 4 1 3
) A B C D
3 1 4 2
[ A B C D
3 4 1 2

40
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111. Webbed neck and sexual infantilism
are the characteristic features of

(a) Mongolism
(b) Klinefelter's syndrome
{c) Turner’s syndrome

{dj Trisomy 13-15

112. Which of the following is the genetic

disorder of humans which occurs
due to criss-cross inheritance of
recessive genes?

fa) Huntington’s charea
(b) Haemophilia
{c) Pernicious anaemia

(d) Thalassemia

113. Consider the following statements :

1. Annual changes in tem-
perature in aquatic environ-
ments are more marked in
temperate freshwater climates
than in other climates.

2. Temperature is the major
factor in the creation of ocean
currents and air currents.

Which of the statements given
above is/are correct?

fa) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2
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114. In a shallow lentic habitat, which

zone is most productive?
(a} Littoral

(b) Profundal

{c) Pelagic

(d) Limnetic

115. In which of the following secondarily

aquatic animals is blubber present?
(a) Carcharodon carcharias

(b} Balaenoptera musculus

{cj Chimaera

(d) Hydrophis

116. Consider the following statements :

1. Marine fishes drink water to
solve the problem of
dehydration.

2. The glomeruli of marine fishes
are well-vascularized.

3. In marine fishes, the loss of
salt is kept at minimum level
by active re-absorption in the
proximal segment of the renal
tubule.

Which of the statements given
above is/are correct?

fa) 1 only
() 1 and 2 only
f¢) 2 and 3 only

{d) 1,2 and 3
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117.

Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-T List-IT
Desert 1. Gibbon
adaptation
Fossorial 2. Naked mole rat
adaptation
Scansorial 3. Opossum
adaptation
Arboreal 4. Horned toad
adaptation
Code
f@ A B C D

1 2 3 4
b) A B C D

1 3 2 4
fc; A B C D

4 3 2 1
{dj A B C D

4 2 3 1

118. Consider the following pairs :

1. Secondary -

aquatic animal : Exocoetus
2. Desert fauna

of India * : Uromastyx
3. Seawater animal : Daphnia

Which of the above pairs is/are
correctly matched?

fa) 1 and 2 only
(b} 2 and 3 only
{cj) 2 only

{d 1,2 and 3
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120. With reference to

119. Consider the following statements :

1. The slothbear is
nocturnal.

mainly

2. The V-shaped patch of white
on the chest is distinguishing
feature of slothbear.

Which of the statements given
above is/are correct?

{fa) 1 only

(b} 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

environmental
pollution, consider the following
statements :

1. Organic phosphates are degrad-
able chemical insecticides.

2. Chlorinated hydrocarbons
depress  photosynthesis  of
marine phytoplankton but
have no adverse effect on
aquatic animals.

Which of the statements given
above is/are correct?

(@) 1 only
(b) 2 only
{¢¢ Both 1 and 2-

{d} Neither 1 nor 2
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